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Figure S4. Screenshot from the IGV showing a candidate mutation associated with a 
misaligned polymorphic insertion. The T→G candidate mutation can be resolved by 
supposing that reads carrying the G allele have instead a TTTG insertion (shown as the 
vertical purple symbol), which is also present in reads of other individuals (including one 
parent) in addition to the two individuals shown.
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Figure	
  S4	
  	
  	
  Screenshot	
  from	
  the	
  IGV	
  showing	
  a	
  candidate	
  mutation	
  associated	
  with	
  a	
  misaligned	
  polymorphic	
  insertion.	
  The	
  T→G	
  
candidate	
  mutation	
  can	
  be	
  resolved	
  by	
  supposing	
  that	
  reads	
  carrying	
  the	
  G	
  allele	
  have	
  instead	
  a	
  TTTG	
  insertion	
  (shown	
  as	
  the	
  
vertical	
  purple	
  symbol),	
  which	
  is	
  also	
  present	
  in	
  reads	
  of	
  other	
  individuals	
  (including	
  one	
  parent)	
  in	
  addition	
  to	
  the	
  two	
  individuals	
  
shown.	
  
 
 


